Time: 10’ Chem 205 Friday, April 20,
Drop Quiz 6 H. Deeb

Name:

1. Consider an electrochemical cell in which the following spontaneous reaction occurs:
Fe™" (aq) + Ag" (aq) —> Ag (s) + Fe™" (aq)

a) write the two half reactions involved and mention which one takes place at he
cathode and which one takes place at the anode. _ \ ey
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What is the oxidizing agent in the above cell?
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¢) From the given overall cell reaction, predict which redox couple, Fe**/Fe** or
Ag'/Ag, has a higher value for E°, oy F i Rl
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d) Which of the following would you recommend as a salt bridge for the élgave cell?
Justify your answer.
NH4NO; or KBr

{

KQe St P W&&}ﬂgs /50 e cet

pob NEANDT s A Tl g MO
e) Why a salt bridge is used in any voltaic cell?
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2. An electrochemical cell based on the following reaction has a standard cell voltage
(E°en) of 0.48 V:
Sn(s) + Cu**(aq) — Sn**(aq) + Cu(s)
What is the standard reduction potential of Sn**/Sn? (E°(Cu**/Cu) = 0.34 V)
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Time: 10’ Chem 205 ]F’) Friday, March 22, 2013
Drop Quiz 6 H. Deeb

Name:

1. Consider an electrochemical cell in which the following net reaction takes place:
Ni(s) + Cu**(aq) — Ni*'(aq) + Cu(s)
/.4
EONQH Ni =-0.25V; E°ciovcu= 1034V

4 aj Write the anode and the cathode half reactions.
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b) Which reagent is oxidized in the above cell?
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¢) Calculate the standard emf of the above electrochemical cell.
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d) Write the cell diagram of the above electrochemical-ce
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. Which of the following metals is the strongest reducing agent and which is the weakest
reducing agent?
Pb, Mg, Mn, Al
E%b2+/p6 =-0.13 V, E°Mn24mn = -1.18 V, E°mgr+img= -2.36 V,

E°A3+ a1 =-1.66 V,  E%e2/pe=-0.44 V
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